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HOW TO APPLY BIOT SAVART LAW

Consider a very small current element dl on current carrying wire.
TRTATET dTeleh dR U Ueh BT YRT 3ddd dl Ald g

Connect a vector 7 from (! to that point.

Al 8 foig P d Teh ¥YUTd Ticer 7 9 Siisd &

Find the angle between dl and .
dl ¥ 7 & 1T FT HIT AT P 6|

Apply biot savart law and find dB vector
ST JUT FaTe & AT T 3UANT e dB T Al ATd B ¢ |

Add all dB vector together by using integration.
Tl dB FT THTRIA I TEIAT § 13 oIl & |




APPLICATION OF BIOT SAVART LAW
Biot-Savart & IH &1 3175|9'§I'£|’I?T

Magnetic field at the center of a current carrying circular wire-loop.

JdThR YRTATe! 9T & g 9 fdedd &

Consider a circular current carrying loop of radius R having current i, we
have to find magnetic field at it's center by using BIOT- SAVART law. To
Find magnetic field consider a small element of current carrying wire
that is (/ and position vector of center with respect to «/ which is 7

Angle between dl and 7 is 90°.

By applying BIOT-SAVART law.

AT foh Teh JTehR YRTATE! dTeleh dR g [Sidehl Aol R & dT ToldH O i & &5
S che, U STAIC T & [IH O JIhiT &1F Sl ATl AT hiell g STF [T gH

S8 TR URTETE AR W Ueh BICT cahal dl AT & AR gHA g I [Aele arer
e EUTY AR r AT &1 dl 797+ & Sra &I FHI0T 90°. ¢ 374 e Had & A
T 39T Fld ¢ |
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APPLICATION OF BIOT SAVART LAW

Magnetic field due to a current carrying circular section of/wire ring.
gl URTETEl e dR & Ueh ffFd & g U gFahId &1

Consider a circular current carrying section of radius X and angle at the
center is (/, having current i, we have to find magnetic field at it's center
by using BIOT- SAVART law. To Find magnetic field consider a small
element of current carrying wire that is ¢/ and position vector of center

with respect to (// which is 7 . Angle between ! and 1 vector is 90°.

By applying BIOT-SAVART law.

HATAT foh Teh gt Toleh dIX ol [8EAT & To1dehl 3T R § dAT 3
e G Sodo] dTAT HIUT O & ST i§ 8H SH ohg UL d1IIC HTIaa
T T &l Al Jncrm}g‘_{sﬂ% olU §H 39 gdle dR & feea

UY Uch BICT ¢ohal dl AT & 3R 39H hg ol grell Ueh TUTa gfeer 7

ﬁglﬁ TUT# & S T HIUT 90 23t § 319 d1Ie- Tad & [ATH T 3TN
|
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Magnetic field due to a straight current carrying wire.

T (W URTAeN dR & HAT Ty &l

Consider a straight current carrying wire of finite length having current 7, we
have to find magnetic field at a point which is at z distance perpendicular to
the wire by using BIOT- SAVART law. To Find magnetic field consider a small
element of current carrying wire that is // at / height from O and position

vector of point P with respect to (/! is 7. Angle between dl and 7 is (/ angle
between O and ’Q) is a. Angle made by ends of wire on O/ is o, and o

By applying BIOT-SAVART law.

& 3R Ig OP & €1Y a, dUT a, hIUT SATT g |
JIhIT 8T AT el & Tl §H 1A T o [ATH bl 3T h3T 3 [FIH

&, 3TN & fIT §H AR W Ueh dl TohsT Aledd & AR dl § P g 1 r & AT &
dl JAT# & &I 1T 0 § 3R Ig OP & ATY o 10T §ATeAT &







FOUR CASES FOR STRAIGHT WIRE
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